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previous lecture : defined det(t) & compute for 2x2 matrix

,
formula for 3x3

For 2x2 : 1 &= ad-be

For 3x3 :/ = Caei+dh+bfy) - Key +bdi + afh)

What's a formula for det(f) for fi" -> R
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Algorithm :

① Choose either arow or a column

② Develop that now (column) in 0

↳ resulting no . independent of 6 and = det(f)
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Theorem Crecursive formula for def)

Let A be anuxn matrix . Given an choice of fixed iEIN
,

I didn
,

then
fix column i

AHix(iAijdet(j)=2AkidetAk), where j is the ()x(n) submatrix of A givea
R = /

by moving the i-th row jth column

Remark : geometrically ,
this computing volume/area via projections to low-dim subspace
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13 1 =
10 + 12 = 22 101 de

(0 + 0 + 4) - 18 +o + 0) = 4O

12-4 develop Iso In (37 . /%8 - 0 . (i) + 2/ 12. (5) + (- 4). 3 : 22

=0 - 0 -(2)(2) = - 4

12-4) deebp 2nd column

-4 . 3) + 5 . 2 : 22
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Def : diagonal :

Given A
,

its diagonal are the terms of the form air

upper upper A

2Example : (5)
,
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Formula :

↑
aij:o if is;

↑
aij =o if <j

Ais upper triangle or Lower triangle

then detA): air < product of diagonal terms




